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Q.1.Seeta is 18" from right end in a row of 50
girls . what is her position from the left end?
Har 50 At Fr v P H e g ¥ 184
AT U 2| AT I | 390! i 71 872

A .32
B .35
C .33
D .34
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Q.2 Radha selected the 27th card from the
left iIn a row of 50 cards. What will be the
position of the same card from the right?
YT 7 50 Ul s U U< § 978 9 279 9 F
= ToFT| ST ST O ST FTe 6 [Rafa &=

SR

A.23
B.24
C.25
D.26
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Q-3In a row of girls, the position of radhika is
38th from the left side of the row, and the
position from the right side of the row is 19th.
Find the total number of girls in that row.

ASTRAT T UF Gk |, TTTHT T TATT Ii<F 6
qTe 3T F 38 TIT YT g, 3T Tixh o aTs A< |
199 T 9T g1 39 Uich H AS AT [ ToT HEd

ST hiST0|

A.57
B.58

C.56
https://t. me/mahendrags
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Q.4 Ram ranks 1165t from the top and 1157t
from the bottom in an examination . how many
students are there in the class?

T GreAT § 1| &7 19 JH9L 3 116537 i 719 |
115737 g1 FeAT H fohad BT 87

A.2322
B.2323

C.2321
https://t.me/mahendras
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Q.5 In a row of 85 persons. Manya is
24th from the left side of the row and
rashi is 19th from the right side of the
row. Find out the number of persons

sitting between them?

85 SR el U Yi<h || HTAT 9T<h o

FTAT 3T | 247 T 9T g A T a1t

\

A H 199 T 92 gl I o419 96 A <h |
T GEAT AT it ?

A.43
https //t me/mahendraB 42
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Q.6 In a row of 68 persons. Manish is 34th from
the left side of the row and rohit is 19th from
the right side of the row. Find out the number of
persons sitting between them?

68 SAT<FAT 1 T U<k H| AT Gi<h & a1 AL A
347 T IX g 3IX Uted aTs 3T T 199 €19 9L B
3eh A1 IS AT 0l G&IT ATd i o ?

A.53

B.16
https://t.me/mahendras
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Q.7 Hitesh is 27t from the left end of a row
of 49 boys and Maneesh is 27t from the
right end in the same row. How many boys
are there between them in the row ?

49 TEhT =l Tah Uixh o a8 ST o [ga9r 274
=T q<%’3ﬁ‘<wﬁq?vfrﬂ‘rﬁﬁrqw ZILH 274

TATH U gl Uik H I a1 Tohad 8 57
A.GC

B.3
C.5

D.2
https://t.me/mahendras
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Q.8 In a row of 29 boys Rohit is at 19t
position from the left end while Mohit is
17t from the right end .How many boys
are there between Rohit & Monhit ?

29 i hl Teh Gih H Uled 910 ZT H 19
o T LR%’\TI@IIOh SN EGEALY altﬁ 17%
T 9T gl Wi 3T Hifagd & o= foha-
ASh 57

A.7
B.6

C.3
https://t.me/mahendras p 5
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Q.9 In a row of girls ,Raveena is 15t from
the left and Madhuri is 18" from the right end
if they interchange their position Raveena
becomes 25" from the left .How many girls
are there In the row ?
SEIERI a?rqzﬁq'il» ", ST a4 9 159 TI19 9%
g T HTYT 21 B H 189 T 9 g Al o
AYAT TATT I H F&A oIl g al A7 o1 |
%53[ TAT I 3T SATT 81 Uik § Fohaet st

2,
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Q.10 In a row of boys Sumit is 8" from the
left end and Anuj is 15" from the right end
If they interchange their position, Sumit
becomes 20th from the left .What is the
total number of boys in the row?
A aﬁqq;qﬁ Y T a1 "X " 89 3T
ST I B A 159 T[T9 9T 5, Tfa I A1
AT da ofd &, I1 GHEd a1 F 20 g1 ST
3| GTRp & Tl T ol e Ay 27
A .35
B .34
https://t.me/mahendras C .33
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Q.11 In a class of 75 students ,where boys are
twice that of girls .Sonali ranked 13t from the top
. If there are four girls ahead of Sonali ,how many
boys are after herinrank ?
75 m—aﬁ?ﬁ 0o HelT |, STgl A= ms@heﬁ @r@%%l
HI"lIQ'II Qﬁﬁ@r 13@| FIT TR %’l qlcz HI"lIc'II H 30T AT
ASThAT &, AT 39 dTa fehdd TS eh gil?
A 43
B .42
C .44

D .41
https://t.me/mahendras
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Q.12 In a class of 90 students whereboys
are twice that of girls .Sohan ranked 15%
from the top . if there are six girls ahead of
sohan ,how many boys are after his in
rank ?

00 BT=T sl Ueh HeAT W, Tl ASh AShAT ol

AT H TR 2| G oY | 159 T 9L g
T TET § Tg ASTHRIAT AN &, Tl 39 a1a

[ohd e TEh &7

A.50
https://t.me/mahendras
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Q.13 Among five boys , j is taller than d,
but shorter than v and m .V is shorter than
only r .The height of second tallest person
iIs 160 cm and second shortest person is
135 cm ,what is the possible height of m?
T Al |, J, DA AT g, Atehd VIR M
ZeTg . V Had R ¥ FleT gl 30< 999 o9
STT<h sl SdTs 160 THT 3T T Ta9 FIel
=7~k 2135 AT g, FAT UH & GATAd SATs 27
A .162CM
B

155CM https //t me/mahendras
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Q.14 Samira is taller than Sanjay ,but shorter
than Sushil .Sunil is as tall as Samira ,but
shorter than Sandeep ,who is not as tall as
Sushil who is the tallest?

Hﬁﬂﬁw@rﬁ—ﬁ% Ao feﬁ?rﬁéﬁ‘fr%
1, FlTﬁ‘{TMcldlmll% mlohd H‘q‘ﬁﬁiﬁ‘ﬂ%

Gﬁgfeﬁﬂ STaAT SaT Al g .Had SaT hid g7?
A .SANJAY

B .SUSHEEL
C .SANDEEP

D .SAMEERA
https://t.me/mahendras
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Q.15 Rohit is 12t from the left end and
Mohit is 15" from the right end in a row of
boys . if there are 6 boys between Rohit
and Mohit , what could be maximum number
of students ?

vlsom h| Haﬁtl'fl

iy

\

|a<1 3

I

H

T H Tted a1 B H 129 3T

< T 159 T

T L gl Tia T

UESEELES

o o HeT 6 A &, [T i ATAhaT TE&T]

FIAT BT Tehcll &2

A.33

B.34
https://t.me/mahegdgs
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